BERItY. PXBLAEFRRRUVEFZEHER FHBFE FEAMAE

ER25%4A1H
BRIEYMIER (BAFAKIER FRITHFICHELTTFSILY
H 4H 5H 6H 71H 8H 9H | 10A | 11R | 12B | 1A 2H 3H

=5%E| 4—4 | 6—1 | 4—2 | 4—4 | 6—1 | 4—2 | 4—4 | 6—1 | 4—2 | 4—4 | 6—1 | 4—2

nug| 6—2|4-3|5—2|4—1|5-1|6—2|4—3|5-2|4—1|5-1|6—2 4
4—1 | 5—1|6—2|4—3|5-2|4—1|5-1|6—2|4—3|5—2|4—1|5—1
we| 8 | 2 |71 8 | 2 |7-1] 8 | 2 |71=1| 8 | 2 |7-1
maE 3 | 7-2| 1 3 | 7-2| 1 3 | 7-2| 1 3 | 7-2
VEDLYREROR =
LuE | FREHEM thu% | HAT—Sams g | AR
EBEHEBRE LA TILA

FHARYFRMLOZEIXIZFTLTHLELLS,

FARYRRRML, ZBEE, ZBEHRIEE->THLELELS,
MR AEERIER (EAF28ER FRISK LY 1K)
)= 4K 5AH 6 A 1R 8H 9B | 108 | 11A | 12B | 1A 2H 3H
3 |4—2|4—4|5—2|6—2| 7—2 1 3 |4—2|4—4|5—2|6—2
4—1 | 4—3 | 5—1 | 6—1 | 7—1 8 2 | 4—1|4—3|5—1|6—1|7—1

*EF ERYDODHFELEZFSLTTILY,

EHESEBEIBTR(EHFE2LER F1£605305)
)= 4K 5AH 6H 1R 8H 9B | 108 | 11A | 12BA | 1A 2H 3H

we | DSE | 7—1 | 8 2 |4—1|4-3|5—1|6—1|7—1]| 8 2
AR R 7—2| 1 | 3 |4—2|4—a|5-2|6-2|7-2| 1 | 3 |4—2
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